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i - 100 3 T
o ol v & FA SFEME ) e [tis mandatory to attempt all the questions compulsorily.
o Tl UM % I G H JTE G &l fosd| e Write down the answers at the appropriate places provided.
o I & =g 40% 3 faRa ® e The minimum pass marks are 40%.
° wa{[ U G5l R BT i TSR a2 ‘gﬂ spam vl | ®  The model question paper should be used by the students

for written examination practice.

u - 01. G fpeu Fam[ (v) g FTRE - 10 x 2 =20
Question - 01 Put a (v') mark in front of the correct option -

1. Ch B0 % Ggd H Hi19-91 9 T 2 8-
Which of the following statements is not true with respect to complementary
angles?
(31) 50 1A % YT FIUT H A 30 A2
The value of the complementary angle of 50 degree is 30 degree.
(3M) &1 9 10T HT AWT 90 AR EATE |
The sum of two complementary angles is 90 degree.
(3) 80 3 F G HIUT H A 10 &
The value of the complementary angle of 80 degree is 10 degree.
@) 30 3 T 60 St AT YT FIO1FH IR

Both 30 degree and 60 degree is a pair of complementary ang]les.

2. HEIE®H - A0FT20% = woreerereran
Find the value of - 20% of 40
(3) 10+20+50-10 (3M) 100 - 80 + 20
(3) 200-40 @) 20+20+50-10
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3. frmfoRad § fi9-a1 Fu9 @8 & —

Which of the following statement is correct -?

(1)

(%)

®

3)

5 1 IO i (-5) B

The multiplicative inverse of 5 is (-5)
(-5) F1 I @™ = 2

The multiplicative inverse of (-5) is %
7 i T e - 2|

The multiplicative inverse of 7 is %

7 %1 T U™ (‘—;)él
-1)

The multiplicative inverse of 7 is —

4. (B)x0x(-1) FESE -
(-5) x 0 x (-1) is the solution -

(1)
(®)

5+1 (=M 5+0

5x0 (é) 3 @ %13 &1/ None of these

5. e e & oreea B o § | Ri9-91 H94 TIod § -

Which of the following statements is incorrect regarding equivalent fractions -?

(1)

(3T

(®)

3)

fm 2 Aigeafm 2 21
The equivalent fraction of the fraction 33 is 53
25 o\ 53
= wgeafim - 7
The equivalent fraction of 22
15 3

21 g et o BT U e G A B |

The cross products of two equivalent fractions are equal to each other.

30
25

6
5
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6.  HIYA % T H o § | Rie-91 9§ —

Which of the following can be written correctly regarding measurement?

(3) 13 9™ =13 FR.I. (3 13 9™ = 0.13 FR.9.
13 grams = 13 kg. 13 grams = 0.13 kg.

@ 139™ = 0.013 fR.m @) 139M = 1.3 %
13 grams = 0.013 kg. 13 grams = 1.3 kg.

7.  f=# @& 98 &/ Which of the following is not correct -
(3N 24+02=26 (M 24+02=12
@) 24x0.2=048 @ 24-02=22
8.  FUA(A) - ITF FIUTHART 90° BT E |
Assertion (A) - The sum of two complementary angles is.
F9 (R) — 30° T G 10T H A 60° 7 |
Statement (R) - The value of the complementary angle of is.
() ATWRIFTEIZ IR, A F G A FAE |
Both A and R are correct. R is the correct explanation of A.
(3M) ATGRI TR | R, A Fl TEl AT &1 FATE |

Both A and R are correct. R does not explain A correctly.
® A wE W] R 7Td g /A is correct but R is incorrect.
(é) AT E W R TR /A is wrong but R is correct.

9. e H T i &1 99 Y /Select the correct statement from the following -

(3N) I = {hared - FaHA
Profit = Selling price — Cost price

(3M) &M = FIHA — [T
Profit = Cost price — Selling price

@) oM™= IFIHA / FIA
Profit = Selling price / Cost price

& o™= Faue/ e
Profit = Cost price / Selling price
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10. o el il e ) T forehed H T oo 1 =9 -

Read the following statements and select the correct option from the given

options -

(1)  FRel avg oTf % AT SR g0 HT AW IRATT FEST 2 |

The sum of the distances around a closed figure is called its perimeter.

(3M) Rl o SR G S 191 €T, I ST 1 S5The Feadl & |

The space enclosed by a closed figure is called the area of that figure.

(3) & (31) © (3M) / Both (A) and (B)

(é) I 9@ F15 7’1 / None of these

oA — 02. s Tl i gid Ffre -
Question - 02. Fill in the blanks -

1.

345 H 4 FT THITERRA QG0 ..o &R |

Akhine Purven of 4 in 345 will be .....................

&1 6 x 1000 FTIPEARS ... g |

The product of the number 6 x 100 is ...............

TS ITHel Hl G

Total number of figures

Arithmetic mean =

TTH I SR ST 1 S 2l g |

The average of the first three prime numbers is

5x2=10
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s - 03. fmfsRaa godi & fem W R #ikTe - 5x2=10
Question - 03. Consider matching the following pairs -
1. 13 faeeA F. IR
Deviation of 13 Median
2. 4 cm. ST 91 O H GRAT W o9 H @A & 2|
Perimeter of square with side 4cm. Equal to each other.
3.  WHAH A IS GG H AA T 16 cm.
Value of the middle term
4, AR o 180°
Corresponding Angle
5. & GFTE HI0T R AR T +3
Sum of two supplementary angles
I JOHT h IR 9T T e T 9o hifore —
Select the correct option based on the above pairs -
@) D)), 2) @M, G (F), @) @), 5) )
=M 1) @), (2) (&), G) (), @ (), (5) (®)
® @) 2 E) ), @) 06) @@
@ D)), @), E) ®), @ 06 @
Y - 04. T / 6 F TR Fifore - 5x1=5

Question - 04. Consider the true / false statement -
1. 3 et 1 AT Hed S 41 R & e |
The mean of two numbers always lies between them.

2. @& “0” A dl 9TcHE S AT & SRUTcHE qRET S 8 |

The number “0” is neither positive nor negative rational number.

3. qUl G % 9 | O aRAfed i g |

0 is included in the set of whole numbers.

a9/ Year - 2023-24




T/ Mathematics
RVVP/24/7-3

a1 f¥ig-a9 98N / Vedabhushan Second Year
w1 74l / - 11 / Class 7 / Prathama - IT

Model Paper - A

4. 1005 % f=a- 1000 BT |
The deviation of 1005 is 1000.

5. 28 [ Fod G 3EATE |
The Vinkulam number of 28 is 3.

I FIAI Hl S TE} R 1 99 FiloTT, —

Read the above statements and choose the correct option -

(3 (1)¥d, (2) 3™Ed, (3) 9HF, (4) A, (5) A
(1) True, (2) False, (3) True, (4) True, (5) True

(M (1) 3[MEF, (2) Fd, (3) §H, (4) HA, (5) A
(1) False, (2) False, (3) True, (4) False, (5) True

® (1) §F, (2) 99, (3) €3, (4) EH, (5) §A
(1) True, (2) True, (3) True, (4) False, (5) True

@) (1) EA, (2) A, (3) IEH, (4) TGA, (5) A
(1) False, (2) True, (3) False, (4) False, (5) True

9 - 05. Sl S 9 —

Question - 05. Very short answer type questions -

1. U SRR el Sl TRATY ST HITT T Hel ) SHETE 5 Hiel &l |

Find the perimeter of a square room whose length is 5 meters.

10x2=20

a9/ Year - 2023-24




7T/ Mathematics a1 f¥ig-a9 98N / Vedabhushan Second Year
RVVP/24/7-3 F1 741 / 99 - 11 / Class 7" / Prathama - II

Model Paper - A

2. Al 6 THATS F Hd 60 . & I W& &1 10 THATS F Fod F1 R T |

If the cost of 6 garlands is Rs. 60 then what will be the cost of 10 garlands?

3. 133 H GH AT 5d FL

Find the arithmetic mean of 1 and 3.

4. TOTRS T F - (-1) x (-5) x (-1)
Find the product - (-1) x (-5) x (-1)
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5. OgSA-HAdhA G H1 SUHRT H AFTRS T Y —

Find the Sum using the sankalan-vyavakalan formula

75+ 33 + 89+ 18 + 28

6. 13% =l @TINOT Pl H a&ﬁ | / Convert 13% to a simple fraction.

7.  45° B Y& R FNE@E | / What is the complementary angle of 45° ?

N a NI N

8. [ ¥ Fu Fl G €9 H ey |
Write the following statements in equation form.
el T § 4 T SieH W ARTRS 16 T &l |

On adding 4 to a number, the sum is 16.
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9. 3453 [AFgeH &A1 &l G & H feRav |

Write 3453 Vinkulam number in general number.

10. & & /Solve : (=3) x (<2) [5 + 2]

A - 06. TR 5% —

Question - 06. Short answer questions -

1. TIN5 T 13 FTATH S0 |

Find the mean of the numbers 5 and 13.

5x3=15

2. QRAT 91 & GReTT fshan |

Write the definition of rational number.
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3.

5: 7 % di9 ged STg4Td Zd & |

Find three equivalent ratios of 5: 7.

T RGN TF FEI 250 €. H 9 F AEE H 300 & § G969 F 1 &, 99 Fqzd

FHRIFEI Tl Tehld & %1 ST T &T( g |

A shopkeeper a chair purchase in Rs. 250. If he sells the customer by 300.

Then how much profit or loss did the shopkeeper make.

10
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5. af<ga® A 14 G,

2 1 T T B a9 S9hS i W

If the diameter of the circle is 14 cm. Find the radius and area of the circle.

U - 07. Srel ST 9t —

Questions - 07. Long answer type questions -

1. O961 gfd: E1d &gEl: el S e 9 |

Yoge yutih syat ksayayoh svayorva dhanarnayorantarameva yogah!|

ITh Wi T AT Tl THI T 4 i &5 X -

Solve the following explaining the interpretation of the above shloka

+ 50 - 45
+ 45 + 56
-30 + 40

4x5=20

1
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2. AU WAl TR a9 2 |
Stnyarnayoh khadhanayoh khastinyayorva vadhah $anyam |
I Wi T AT Tl THI T 4 i &S T —

Solve the following explaining the interpretation of the above
+50)+0 = (+50)+0 =
(-45-0 = &2 =

0

shloka

3. fads o3 W1 & 994 a1 FI0T i 8 F:X

Explain the angle formed by the transversal.

12
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4, 1 % AW Y GHEId SiE S AT ST

Explain the verse related to the value of .

13
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